

5

$$\mathcal{F}^{-1} \left\{ \frac{e^{si(k+1)}}{k^2+2k+6} \right\} = \mathcal{F}^{-1} \left\{ \frac{e^{si(k+1)}}{((k+1-i\sqrt{5})(k+1+i\sqrt{5}))} \right\} = \dots$$

$k_0 = -1$

$$\frac{\Delta}{4} = 1 - 6 = -5$$

$$k_{1,2} = -1 \pm i\sqrt{5}$$

$e^{-i(-5)k}$

"

$$\mathcal{F}^{-1} \left\{ \frac{e^{sik}}{(k-i\sqrt{5})(k+i\sqrt{5})} \right\} = \mathcal{F}^{-1} \left\{ \frac{e^{sik}}{k^2-i^2 5} \right\} = \mathcal{F}^{-1} \left\{ \frac{e^{sik}}{k^2+5} \right\}$$

$$= \frac{1}{2\sqrt{5}} e^{-\sqrt{5}|x+5|}$$



$$\mathcal{F}^{-1} \left\{ \frac{1}{k^2+5} \right\} = \frac{1}{2\sqrt{5}} \mathcal{F}^{-1} \left\{ \frac{2\sqrt{5}}{5+k^2} \right\} = \frac{1}{2\sqrt{5}} e^{-\sqrt{5}|x|}$$

$\underbrace{\hspace{10em}}_{F(k)} \qquad \qquad \qquad \underbrace{\hspace{10em}}_{f(x)}$

$$\mathcal{F} \left\{ f(x-x_0) \right\} = e^{-ix_0 k} F(k)$$

$$f(x-x_0) = \mathcal{F}^{-1} \left\{ e^{-ix_0 k} \underbrace{F(k)} \right\}$$

$$\dots = \frac{\sqrt{5}}{\sqrt{5}} \frac{1}{2\sqrt{5}} e^{-\sqrt{5}|x+5|} e^{-ix} = \frac{\sqrt{5}}{2 \cdot 5} e^{-\sqrt{5}|x+5|-ix} = \frac{\sqrt{5}}{10} e^{-\sqrt{5}(x+5)-ix}$$

$$\textcircled{7} \quad \mathcal{F}^{-1} \left\{ \frac{\sin 3(k-1)}{e^{ik}(k-1)} \right\} = \mathcal{F}^{-1} \left\{ \frac{\sin 3(k-1)}{e^{i(k-1)} \cdot e^{i(k-1)}} \right\} = \frac{1}{2} [H(x+2) - H(x-4)] e^{i(x-1)}$$

$\underbrace{\frac{\sin 3(k-1)}{e^{ik}(k-1)}}_{F(k-k_0)} \quad k_0=1$
 $f(x) e^{ik_0 x}$
PPOP 3

$$\frac{1}{e^i} \mathcal{F}^{-1} \left\{ \frac{\sin 3k}{e^{ik} k} \right\} = e^i \mathcal{F}^{-1} \left\{ e^{-ik} \frac{\sin 3k}{k} \right\} = \frac{e^{-i}}{2} [H(x+2) - H(x-4)]$$

$f(x-1)$
 $f(x)$
PPOP 2
PPOP 3

$$\left[\frac{e^{-i}}{2} \mathcal{F}^{-1} \left\{ \frac{\sin 3k}{3k} \right\} = \frac{e^{-i}}{2} [H(x+3) - H(x-3)] \right]$$

$f(x)$